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The picnic was put

heavy rain.
A) out

B) up

C) away
D) off

because of the

21.

My teacher turned

A) on

B) down

9]

in

D) up

my proposal yesterday.

22. Which of the following does not represent a tool?
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knife
spade
hamster

hammer

23. Which of the following word has a different
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meaning from the others?

A)
B)
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Mr. Chan is very

sad
unhappy
pleased

upset

others.
A)  helpful
B)  honest
C)  careful
D) grateful
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Answer: Fprdie BFVE- &, F B
as, we,
are, awe, new, saw, sew, sen, was, war, wan, wen, era, ear, ran, raw,
wren, news, sewn, ware, wear, sear, sera, ears, eras, wars, raws, near, earn, warn, wane,
wean, anew, sane, swan, sawn
wanes, weans, warns, earns, saner, nears, wears, wares, wrens, snare, swear

answer
2. Answer: 7 (7%)
3. Answer: 142857 (7%)

4. Answer: (7%)
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5. Answer: 22 (6%)

6. Answer: A=7 B=4 C=5
D=8 E=9 F=3
G=6 H=1 =2 (6%)



